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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)      (02) 

          





       


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Section–A

–

Long Answ er Type Questions

 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Explain the strategy of government to increasing the

productivity of Indian Agriculture.

  



2. How did effected food security by Public Distribution

System ?




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3. What are main problems of small Industries ? How is

development of small industries helpful in economic

development of country ?





4. Public sector significantly contributed in the development

of country-Are you agree with this statement ? Discuss

with reason.



            



5. The policies of World Trade Organization are against

to emerging economy of India. Examine this statement.





Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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 (08) 

(08)

(04) 

1. What is the status of agricultural marketing in India ?

Explain.



2. What are the contributions of small area industry in

employment ?



3. What are the main items of balance of payment ?



4. Examine the objectives of World Trade Organization.



5. What are the problems of Indian Agricultural

Farmers ? What can be the solutions of these

problems ?

 



6. Clarify the significance of stability of agricultural

price in India.


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7. Explain the changes of Indian foreign trade in planning

period.





8. What are the main industrial problems in India ?



**************


